Jle Jd fFouts

DS e s 1 3 Sl -

-0
(X+¥)(¥—X%)

VY=

vy P(X) g ¥x+o|(X+¥)(vX—¥)

DS e logad ey L1y s sl )le 1S e cdle Y

HfX)=x"-v V)gX)=X —vX+Y

AS Cedle s | g Ol le Y

YX X—)\
HP=—" "
YX—=) X+)\

(X" =)(X"—fX+¥)

X—=¥)*(x =)'
Py = X=X =) (
—X" [V=vX| —vX + X —)

) P=




£) (YX—Y) —(X—Y)(6X —*)

—X" | X+ Y| MNP=X"+tX" —v—X

vy P=

(Y =X)(Y+X)+oX—¥

1y P TITYX =7 1) P=X"—rx" +vs
X" —yX" = X+Y

(£ =Xx)|vx+o]
(X E)(F-X) +9

\v) P

I a+b el cuie oslgen X 550 polie gl g ain o)l VXY galols (o X' —ax+b <,le -F

J.:)5| Cwdds




